



The Identical Equation in ψ -Products

Author(s): V. Sitaramaiah and M. V. Subbarao

Source: *Proceedings of the American Mathematical Society*, Vol. 124, No. 2, (Feb., 1996), pp. 361-369

Published by: American Mathematical Society

Stable URL: <http://www.jstor.org/stable/2161350>

Accessed: 21/04/2008 16:35

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at <http://www.jstor.org/page/info/about/policies/terms.jsp>. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at <http://www.jstor.org/action/showPublisher?publisherCode=ams>.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

JSTOR is a not-for-profit organization founded in 1995 to build trusted digital archives for scholarship. We enable the scholarly community to preserve their work and the materials they rely upon, and to build a common research platform that promotes the discovery and use of these resources. For more information about JSTOR, please contact support@jstor.org.

THE IDENTICAL EQUATION IN ψ -PRODUCTS

V. SITARAMAIAH AND M. V. SUBBARAO

(Communicated by William W. Adams)

ABSTRACT. In Bull. Amer. Math. Soc. **36** (1930), 762–772, R. Vaidyanathaswamy established a remarkable identity valid for any multiplicative arithmetic function and involving Dirichlet convolution. D. H. Lehmer (Trans. Amer. Math. Soc. **33** (1931), 945–952) introduced a very general class of arithmetical convolutions, called ψ -products, which include the well-known Dirichlet products, Eckford Cohen's unitary convolutions, and in fact Narkiewicz's so-called regular A -convolutions. In this paper, we establish an identical equation valid for multiplicative arithmetic functions and Lehmer's ψ -convolutions which yields, as special cases, all known identical equations valid for the Dirichlet and unitary convolutions, besides establishing identical equations for several new convolutions.

1. INTRODUCTION

An arithmetic function is a complex-valued function whose domain is the set of positive integers \mathbb{Z}^+ . The set of all arithmetic functions will be denoted by F . If $f \in F$, then as usual, f is said to be multiplicative if $f(1) = 1$ and $f(mn) = f(m)f(n)$, for all positive integers m and n with $(m, n) = 1$; here the symbol (a, b) stands for the greatest common divisor of a and b .

In 1930, R. Vaidyanathaswamy (see [11] and [12, Section VI]) established the following remarkable identity valid for any multiplicative function and known as the identical equation for multiplicative functions: If f is any multiplicative function, then for any positive integers m and n , we have

$$(1.1) \quad f(mn) = \sum_{\substack{a|m \\ b|n}} f(m/a)f(n/b)f^{-1}(ab)G(a, b),$$

where f^{-1} is the inverse of f with respect to the familiar Dirichlet convolution i.e.,

$$\sum_{d|m} f(d)f^{-1}(m/d) = e(m),$$

Received by the editors April 4, 1994 and, in revised form, August 20, 1994.

1991 *Mathematics Subject Classification*. Primary 11A25.

Key words and phrases. Multiplicative arithmetic functions, Lehmer product, identical equation.

The second author was partly supported by an NSERC grant.

for all positive integers m , where

$$(1.2) \quad e(m) = \begin{cases} 1, & \text{if } m = 1, \\ 0, & \text{if } m > 1, \end{cases}$$

and

$$(1.3) \quad G(a, b) = \begin{cases} (-1)^{\omega(a)}, & \text{if } \gamma(a) = \gamma(b), \\ 0, & \text{otherwise;} \end{cases}$$

$\omega(a)$ being the number of distinct prime factors of a , $\gamma(a)$ the product of distinct prime factors of a with $\omega(1) = 0$ and $\gamma(1) = 1$.

The identical equation (1.1) attracted the attention of many mathematicians. A. A. Gioia [2] and M. Sugunamma (cf. [10, page 30]) offered different proofs of (1.1) while M. V. Subbarao and A. A. Gioia [9] and P. J. McCarthy [6] generalized (1.1), in different directions (see also K. Krishna [4]).

A divisor d of m is said to be a unitary divisor [1] if $(d, m/d) = 1$ and in such a case we write $d||m$.

It has been observed by M. V. Subbarao and A. A. Gioia [9] that the unitary analogue of (1.1) is true i.e., whenever m and n are relatively prime and f is multiplicative we have

$$(1.4) \quad f(mn) = \sum_{\substack{a||m \\ b||n}} f(m/a)f(n/b)(f^*)^{-1}(ab)G(a, b),$$

where $(f^*)^{-1}$ is the inverse of f with respect to the unitary convolution [1]; that is,

$$\sum_{d||m} f(d)(f^*)^{-1}(m/d) = e(m).$$

In fact, M. V. Subbarao and A. A. Gioia noted that (cf. [9, p. 70]) the identity in (1.4) reduces to a triviality in the sense that the right-hand side of (1.4) can be evaluated without much difficulty since $(f^*)^{-1}(m) = (-1)^{\omega(m)}f(m)$. They also established a non-trivial identity (cf. [9, Theorem 2]) in the case of unitary products.

As a generalization of the Dirichlet and unitary convolutions, W. Narkiewicz [7] introduced the concept of a regular A -convolution. It is interesting to note that the A -analogue of (1.1) is also true which has in fact been established by P. Haukkanen (cf. [3, Theorem 1.4.8], $G = \mathbb{Z}^+$) in a slightly more general setting. However, we mention here only the A -analogue of (1.1): If f is a multiplicative function, then we have for $m \in A(mn)$,

$$(1.4') \quad f(mn) = \sum_{\substack{a \in A(m) \\ b \in A(n)}} f(m/a)f(n/b)f_A^{-1}(ab)G(a, b),$$

where f_A^{-1} is the inverse of f with respect to the regular A -convolution, so that

$$\sum_{d \in A(m)} f(d)f_A^{-1}(m/d) = e(m).$$

Let T be a non-empty subset of $\mathbb{Z}^+ \times \mathbb{Z}^+$ and let $\psi: T \rightarrow \mathbb{Z}^+$ be a mapping satisfying the following conditions:

(1.5) For each $n \in \mathbb{Z}^+$, $\psi(x, y) = n$ has a finite number of solutions.

(1.6) If $(x, y) \in T$, then $(y, x) \in T$ and we have $\psi(x, y) = \psi(y, x)$.

(1.7) The statement “ $(x, y) \in T, (\psi(x, y), z) \in T$ ” and “ $(y, z) \in T, (x, \psi(y, z)) \in T$ ” are equivalent; if one of these conditions holds, we have

$$\psi(\psi(x, y), z) = \psi(x, \psi(y, z)).$$

(1.8) For each $k \in \mathbb{Z}^+, (1, k) \in T$ and $\psi(1, k) = k$.

If $f, g \in F$, then the ψ -product of f and g denoted by $f\psi g$ is defined by

$$(1.9) \quad (f\psi g)(n) = \sum_{\psi(x,y)=n} f(x)g(y),$$

for each $n \in \mathbb{Z}^+$.

The binary operation ψ in (1.9) is due to D. H. Lehmer [5]. It is not difficult to show that (see [5]) the triple $(F, +, \psi)$ is a commutative ring with unity e where e is as given in (1.2) and ‘+’ denotes the usual pointwise addition.

Let $\psi(x, y) = xy$ for all $(x, y) \in T$. If $T = \mathbb{Z}^+ \times \mathbb{Z}^+$, then from (1.9) it is clear that ψ reduces to the Dirichlet convolution. If $T = \{(a, b) \in \mathbb{Z}^+ \times \mathbb{Z}^+ : a \text{ and } b \text{ are relatively prime}\}$, then ψ reduces to the unitary convolution [1]. More generally, if A is Narkiewicz’s regular convolution [7] and $T = \bigcup_{n=1}^{\infty} \{(x, n/x) : x \in A(n)\}$, then ψ reduces to the A -convolution. Examples show that the binary operation ψ of D. H. Lehmer [5] is more general than that of Narkiewicz’s A -convolution.

The object of the present paper is to obtain a ‘ ψ -analogue’ of the identical equation (1.1).

When $T = \mathbb{Z}^+ \times \mathbb{Z}^+$ and $\psi(x, y) = xy$ on T , the result in (1.1) can be restated as follows: If f is multiplicative, then for any pair $(m, n) \in T$, we have

$$(1.10) \quad f(\psi(m, n)) = \sum_{\substack{\psi(a,x)=m \\ \psi(b,y)=n}} f(x)f(y)f^{-1}(\psi(a, b))G(a, b).$$

It is clear that we obtain the results in (1.4) and (1.4’), by taking $T = \{(a, b) \in \mathbb{Z}^+ \times \mathbb{Z}^+ : a \text{ and } b \text{ are relatively prime}\}$, $T = \bigcup_{n=1}^{\infty} \{(x, n/x) : x \in A(n)\}$, where A is a Narkiewicz convolution and $\psi(x, y) = xy$ on T in (1.10) successively.

In the case of Dirichlet, unitary or more generally that of a regular convolution, whenever f is multiplicative, f^{-1} exists and is also multiplicative (cf. [7]). When we are aiming at (1.10), of course, we need a ψ -function in which such a property is there. Moreover, the Dirichlet or unitary or in general a regular convolution is multiplicativity preserving in the sense that whenever f and g are multiplicative, then the corresponding product in each of these convolutions is also multiplicative. For an efficient evaluation of the right-hand side of (1.10), we are forced to consider the binary operation ψ which is multiplicativity preserving, that is, we need a ψ in which $f\psi g$ is multiplicative whenever f and g are so. With an additional restriction on ψ (apart from the conditions (1.5)–(1.8)), namely, $\psi(x, y) \geq \max\{x, y\}$, for all $(x, y) \in T$, in [8], we observed that (see §2, Lemmas 2.1 and 2.2) the characterization of multiplicativity-preserving ψ -functions is possible. Unfortunately, even when ψ is multiplicativity preserving and in which f^{-1} is multiplicative whenever f is so, the identity in (1.10) may not hold (see Remark 3.3). This leads us to impose further restrictions on ψ (see section 3). However, even with these restrictions, we can obtain examples of ψ -functions other than the familiar $\psi(x, y) = xy$ (see Remark 3.2) for which an identical equation holds.

Section 2 deals with the preliminaries. Section 3 is devoted to the main result of this paper.

2. PRELIMINARIES

First we have

Lemma 2.1 (cf. [8], Theorem 3.1). *Let $\psi: T \rightarrow \mathbb{Z}^+$ be a mapping satisfying (1.5)–(1.8). Also, let $\psi(x, y) \geq \max\{x, y\}$ for all $(x, y) \in T$. Suppose that the binary operation ψ in (1.9) preserves multiplicativity, that is, whenever $f, g \in F$ and are multiplicative then so is $f\psi g$. If $x = \prod_{i=1}^r p_i^{\alpha_i}$ and $y = \prod_{i=1}^r p_i^{\beta_i}$, where p_1, p_2, \dots, p_r are distinct primes, and α_i and β_i are non-negative integers, we have*

- (a) $(x, y) \in T$ if and only if $(p_i^{\alpha_i}, p_i^{\beta_i}) \in T$ for $i = 1, 2, \dots, r$.
- (b) For each prime p and non-negative integers α, β such that $(p^\alpha, p^\beta) \in T$, there is a unique non-negative integer $\theta_p(\alpha, \beta) \geq \max\{\alpha, \beta\}$ such that $\psi(p^\alpha, p^\beta) = p^{\theta_p(\alpha, \beta)}$.
- (c) If $(x, y) \in T$, then

$$(2.1) \quad \psi(x, y) = \prod_{i=1}^r p_i^{\theta_{p_i}(\alpha_i, \beta_i)}.$$

Lemma 2.2 (cf. [8], Theorem 3.2). *Let $T \subseteq \mathbb{Z}^+ \times \mathbb{Z}^+$ be such that*

- (a) $(1, x) \in T$ for every $x \in \mathbb{Z}^+$.
- (b) $(x, y) \in T$ if and only if $(y, x) \in T$.
- (c) If x and y are as given in Lemma 2.1, then $(x, y) \in T$ if and only if $(p_i^{\alpha_i}, p_i^{\beta_i}) \in T$, for $i = 1, 2, \dots, r$.

Further, for each prime p and non-negative integers α, β such that $(p^\alpha, p^\beta) \in T$, let $\theta_p(\alpha, \beta)$ be a non-negative integer satisfying

- (d) $\theta_p(\alpha, \beta) \geq \max\{\alpha, \beta\}$.
- (e) $\theta_p(\alpha, \beta) = 0$ if and only if $\alpha = \beta = 0$.
- (f) $\theta_p(0, \alpha) = 0$, for every $\alpha \geq 0$.
- (g) $\theta_p(\alpha, \beta) = \theta_p(\beta, \alpha)$.
- (h) For non-negative integers α, β, γ and for any prime p , the statements ‘‘ $(p^\beta, p^\gamma) \in T, (p^\alpha, p^{\theta_p(\beta, \gamma)}) \in T$ ’’ and ‘‘ $(p^\alpha, p^\beta) \in T$ and $(p^{\theta_p(\alpha, \beta)}, p^\gamma) \in T$ ’’ are equivalent; when one of these conditions holds, we have $\theta_p(\alpha, \theta_p(\beta, \gamma)) = \theta_p(\theta_p(\alpha, \beta), \gamma)$.

If for $(x, y) \in T, \psi(x, y)$ is defined by (2.1), then $(F, +, \psi)$ is a commutative ring with unity e and $f\psi g$ is multiplicative whenever f and g are so.

Lemma 2.3 (cf. [8], Theorem 3.3). *Let T and ψ be as in Lemma 2.2. If f is multiplicative and $S_f(k) \neq 0$ for all $k \in \mathbb{Z}^+$, where $S_f(k) = \sum_{\psi(x, k)=k} f(x)$, then f^{-1} is also multiplicative.*

Remark 2.1. If ψ satisfies the hypothesis of Lemma 2.2 and for each $k \in \mathbb{Z}^+, \psi(x, k) = k$ if and only if $x = 1$, then Lemma 2.3 shows that f^{-1} is multiplicative whenever f is so. We note that the condition ‘‘ $\psi(x, k) = k$ if and only if $x = 1$ ’’ is equivalent to saying that for each prime $p, \theta_p(\alpha, \beta) = \alpha$ if and only if $\beta = 0$ ’.

3. THE ψ -ANALOGUE OF THE IDENTICAL EQUATION

We prove the following:

Theorem. *Let T, ψ and θ_p be as in Lemma 2.2. Further we assume that for each prime p , we have*

- (3.1) (a) $\theta_p(\alpha, \beta) = \theta_p(\alpha, \gamma)$ implies that $\beta = \gamma$.
- (3.2) (b) $\theta_p(a, b) = \theta_p(x, y)$ implies that $x = \theta_p(a, c)$
for some $c \geq 0$ or $y = \theta_p(b, d)$ for some $d \geq 0$.

If f is multiplicative, then for any positive integers m and n such that $(m, n) \in T$, we have

$$(3.3) \quad f(\psi(m, n)) = \sum_{\substack{\psi(a, x)=m \\ \psi(b, y)=n}} f(x)f(y)f^{-1}(\psi(a, b))G(a, b),$$

where $G(a, b)$ is as given in (1.3).

Proof. Since $\theta_p(\alpha, 0) = \alpha$ for each prime p and $\alpha \geq 0$, the condition (3.1) implies that for each prime $p, \theta_p(\alpha, \beta) = \alpha$ if and only if $\beta = 0$. Therefore Remark 2.1 shows that f^{-1} exists and is multiplicative, since f is so.

Let $m = \prod_{i=1}^r p_i^{\alpha_i}$ and $n = \prod_{i=1}^r p_i^{\beta_i}$ where p_1, p_2, \dots, p_r are distinct primes and $\alpha_1, \alpha_2, \dots, \alpha_r, \beta_1, \beta_2, \dots, \beta_r$ are non-negative integers. We have by (2.1),

$$(3.4) \quad f(\psi(m, n)) = f\left(\prod_{i=1}^r p_i^{\theta_{p_i}(\alpha_i, \beta_i)}\right) = \prod_{i=1}^r f(p_i^{\theta_{p_i}(\alpha_i, \beta_i)}),$$

where we have used the fact that f is multiplicative. Let $H(m, n)$ denote the right-hand side of (3.3). We have

$$(3.5) \quad \begin{aligned} H(m, n) &= \sum_{\substack{\theta_{p_i}(a_i, x_i)=\alpha_i \\ \theta_{p_i}(b_i, y_i)=\beta_i \\ 1 \leq i \leq r}} f\left(\prod_{i=1}^r p_i^{x_i}\right) f\left(\prod_{i=1}^r p_i^{y_i}\right) \\ &\quad \cdot f^{-1}\left(\prod_{i=1}^r p_i^{\theta_{p_i}(a_i, b_i)}\right) G\left(\prod_{i=1}^r p_i^{\alpha_i}, \prod_{i=1}^r p_i^{\beta_i}\right) \\ &= \sum_{\substack{\theta_{p_i}(a_i, x_i)=\alpha_i \\ \theta_{p_i}(b_i, y_i)=\beta_i \\ 1 \leq i \leq r}} \prod_{i=1}^r f(p_i^{x_i}) f(p_i^{y_i}) f^{-1}(p_i^{\theta_{p_i}(a_i, b_i)}) G(p_i^{\alpha_i}, p_i^{\beta_i}) \\ &= \prod_{i=1}^r \sum_{\substack{\theta_{p_i}(a_i, x_i)=\alpha_i \\ \theta_{p_i}(b_i, y_i)=\beta_i}} f(p_i^{x_i}) f(p_i^{y_i}) f^{-1}(p_i^{\theta_{p_i}(a_i, b_i)}) G(p_i^{\alpha_i}, p_i^{\beta_i}) \\ &= \prod_{i=1}^r H(p_i^{\alpha_i}, p_i^{\beta_i}). \end{aligned}$$

In view of (3.4) and (3.5), it is enough to prove (3.3) when $m = p^\alpha$ and $n = p^\beta$ where p is a prime and α and β are non-negative integers such that $(p^\alpha, p^\beta) \in T$.

If $m = 1$ or $n = 1$, (3.3) follows trivially. Hence we may assume that α and β are positive integers. Since p is fixed, we write θ for θ_p . From (3.3) and (1.3), we have

$$\begin{aligned}
 (3.6) \quad H(p^\alpha, p^\beta) &= \sum_{\substack{\theta(\alpha_1, \alpha_2) = \alpha \\ \theta(\beta_1, \beta_2) = \beta}} f(p^{\alpha_2})f(p^{\beta_2})f^{-1}(p^{\theta(\alpha_1, \beta_1)})G(p^{\alpha_1}, p^{\beta_1}) \\
 &= f(p^\alpha)f(p^\beta) - \sum_{\substack{\theta(\alpha_1, \alpha_2) = \alpha \\ \alpha_1 > 0}} f(p^{\alpha_2}) \sum_{\substack{\theta(\beta_1, \beta_2) = \beta \\ \beta_1 > 0}} f(p^{\beta_2})f^{-1}(p^{\theta(\alpha_1, \beta_1)}).
 \end{aligned}$$

Let $\alpha_1 > 0$ be such that $\theta(\alpha_1, \alpha_2) = \alpha$ for some α_2 . We have

$$(3.7) \quad 0 = e(p^{\theta(\alpha_1, \beta)}) = \sum_{\theta(x, y) = \theta(\alpha_1, \beta)} f^{-1}(p^x)f(p^y).$$

Let

$$(3.8) \quad S = \{(x, y) : \theta(x, y) = \theta(\alpha_1, \beta)\},$$

$$(3.9) \quad L_1 = \{(\theta(\alpha_1, \beta_1), \beta_2) : \theta(\beta_1, \beta_2) = \beta\},$$

and

$$(3.10) \quad L_2 = \{(b, \theta(a, \beta)) : \theta(a, b) = \alpha_1\}.$$

Using the assumptions (3.1) and (3.2), it is not difficult to show that

$$(3.11) \quad S = L_1 \cup L_2, \quad L_1 \cap L_2 = \{(\alpha_1, \beta)\}$$

and

$$(3.12) \quad L_1 - \{(\alpha_1, \beta)\} = \{(\theta(\alpha_1, \beta_1), \beta_2) : \theta(\beta_1, \beta_2) = \beta, \beta_1 > 0\}.$$

From (3.8)–(3.12) and (3.7) it follows that

$$\begin{aligned}
 0 &= \sum_{\theta(x, y) = \theta(\alpha_1, \beta)} f^{-1}(p^x)f(p^y) \\
 &= \sum_{\substack{\theta(\beta_1, \beta_2) = \beta \\ \beta_1 > 0}} f^{-1}(p^{\theta(\alpha_1, \beta_1)})f(p^{\beta_2}) + \sum_{\theta(a, b) = \alpha_1} f^{-1}(p^b)f(p^{\theta(a, \beta)}),
 \end{aligned}$$

so that

$$(3.13) \quad \sum_{\substack{\theta(\beta_1, \beta_2) = \beta \\ \beta_1 > 0}} f(p^{\beta_2})f^{-1}(p^{\theta(\alpha_1, \beta_1)}) = - \sum_{\theta(a, b) = \alpha_1} f^{-1}(p^b)f(p^{\theta(a, \beta)}).$$

From (3.13), we have

$$\begin{aligned}
 & \sum_{\substack{\theta(\alpha_1, \alpha_2) = \alpha \\ \alpha_1 > 0}} f(p^{\alpha_2}) \sum_{\substack{\theta(\beta_1, \beta_2) = \beta \\ \beta_1 > 0}} f(p^{\beta_2}) f^{-1}(p^{\theta(\alpha_1, \beta_1)}) \\
 &= - \sum_{\substack{\theta(\alpha_1, \alpha_2) = \alpha \\ \alpha_1 > 0}} f(p^{\alpha_2}) \sum_{\theta(a, b) = \alpha_1} f^{-1}(p^b) f(p^{\theta(a, \beta)}) \\
 (3.14) \quad &= - \sum_{\theta(\alpha_1, \alpha_2) = \alpha} f(p^{\alpha_2}) \sum_{\theta(a, b) = \alpha_1} f^{-1}(p^b) f(p^{\theta(a, \beta)}) + f(p^\alpha) f(p^\beta) \\
 &= - \sum_{\theta(a, \theta(b, \alpha_2)) = \alpha} f(p^{\alpha_2}) f^{-1}(p^b) f(p^{\theta(a, \beta)}) + f(p^\alpha) f(p^\beta) \\
 &= - \sum_{\theta(a, r) = \alpha} f(p^{\theta(a, \beta)}) \sum_{\theta(b, \alpha_2) = r} f^{-1}(p^b) f(p^{\alpha_2}) + f(p^\alpha) f(p^\beta) \\
 &= - \sum_{\theta(a, r) = \alpha} f(p^{\theta(a, \beta)}) e(p^r) + f(p^\alpha) f(p^\beta) \\
 &= -f(p^{\theta(\alpha, \beta)}) + f(p^\alpha) f(p^\beta).
 \end{aligned}$$

Putting (3.14) into (3.6) we obtain that

$$H(p^\alpha, p^\beta) = f(p^{\theta(\alpha, \beta)}),$$

which proves the theorem.

Remark 3.1. Let A be a regular convolution [7], and $T = \bigcup_{n=1}^\infty \{(x, n/x) : x \in A(n)\}$. Let $\psi : T \rightarrow \mathbb{Z}^+$ be defined by $\psi(x, y) = xy$ so that for each prime p and non-negative integers α and β such that $(p^\alpha, p^\beta) \in T, \theta_p(\alpha, \beta) = \alpha + \beta$. It is not difficult to show that the assumptions (2.1) and (3.2) are satisfied. In this case, the identity in (3.3) reduces to (1.4') which is due to P. Haukkanen (cf. [3, Theorem 1.4.8], $G = \mathbb{Z}^+$) as already mentioned in the introduction. Taking $A(m) =$ the set of all divisors of m for each m in (1.4'), we obtain (1.1), and if $A(m) =$ the set of all unitary divisors of m for each m , in (1.4'), we obtain (1.4).

Remark 3.2. We fix a prime p . We define $\theta_p(0, 0) = 0$. If n is a positive integer $\neq 3$, we define $\theta_p(x, y) = n$ if and only if $(x, y) \in \{(0, n), (n, 0)\}$. If $n = 3$, we define $\theta_p(x, y) = 3$, if and only if $(x, y) \in \{(0, 3), (3, 0), (1, 1)\}$. For a prime $q \neq p, \theta_q(\alpha, \beta)$ is defined in such a way that θ_q satisfies the conditions (d)–(h) of Lemma 2.2 and the conditions (2.1) and (3.2). The set T and the corresponding function ψ can be defined with the aid of Lemma 2.2. It is not difficult to show that θ_p satisfies the conditions (d)–(g) of Lemma 2.2, (2.1) and (3.2). The function ψ so constructed is clearly different from the function $\psi(x, y) = xy$ and yet satisfies the hypothesis of the theorem.

Remark 3.3. Let $T = \mathbb{Z}^+ \times \mathbb{Z}^+$. For each prime p , let $\theta_p(\alpha, \beta) = \alpha + \beta + \alpha\beta$ for non-negative integers α and β . It is not difficult to show that θ_p satisfies the conditions (d)–(h) of Lemma 2.2 and the condition (2.1). Also θ_p does not satisfy the condition (3.2). Let ψ be defined by (2.1). Lemma 2.2 shows that ψ is multiplicativity preserving and Lemma 2.3 shows that f^{-1} is multiplicative whenever f is so. Let $f(x) = x$ for all $x \in \mathbb{Z}^+$. Taking $\alpha = 1$ and $\beta = 2$ in (3.6),

we obtain

$$\begin{aligned}
 H(p, p^2) &= p^3 - \sum_{\substack{\theta_p(\alpha_1, \alpha_2)=1 \\ \alpha_1 > 0}} p^{\alpha_2} \sum_{\substack{\theta_p(\beta_1, \beta_2)=2 \\ \beta_1 > 0}} p^{\beta_2} f^{-1}(p^{\alpha_1 + \beta_1 + \alpha_1 \beta_1}) \\
 (3.15) \quad &= p^3 - \sum_{\substack{(\alpha_1+1)(\alpha_2+1)=2 \\ \alpha_1 > 0}} p^{\alpha_2} \sum_{\substack{(\beta_1+1)(\beta_2+1)=3 \\ \beta_1 > 0}} p^{\beta_2} f^{-1}(p^{\alpha_1 + \beta_1 + \alpha_1 \beta_1}) \\
 &= p^3 - f^{-1}(p^5).
 \end{aligned}$$

We have

$$\begin{aligned}
 0 = e(p^5) &= \sum_{\psi(x, y)=p^5} f(x) f^{-1}(y) = \sum_{\theta_p(a, b)=5} p^a f^{-1}(p^b) \\
 &= \sum_{(a+1)(b+1)=6} p^a f^{-1}(p^b) = f^{-1}(p^5) + p f^{-1}(p^2) + p^2 f^{-1}(p) + p^5.
 \end{aligned}$$

Applying a similar procedure, we can prove that

$$f^{-1}(p) = -p \quad \text{and} \quad f^{-1}(p^2) = -p^2,$$

so that

$$f^{-1}(p^5) = p^5 - 2p^3;$$

substituting this into (3.15), we obtain

$$H(p, p^2) = p^5 + 2p^3,$$

while

$$f(p^{\theta_p(1,2)}) = p^{\theta_p(1,2)} = p^5.$$

It follows that the identity (3.3) does not hold when $m = p$ and $n = p^2$. The function ψ in this example is originally due to D. H. Lehmer [5].

REFERENCES

1. E. Cohen, *Arithmetical functions associated with the unitary divisors of an integer*, Math. Z. **74** (1960), 66–80. MR **22**:3707
2. A. A. Gioia, *On an identity for multiplicative functions*, Amer. Math. Monthly **69** (1962), 988–991.
3. P. Haukkanen, *Classical arithmetical identities involving a generalization of Ramanujan's sum*, Ann. Acad. Sci. Fenn. Ser. A. I Math. Dissertationes **68** (1966), 1–69.
4. K. Krishna, *A proof of an identity for multiplicative functions*, Canad. Math. Bull. **22** (1979), 299–304. MR **81e**:10004
5. D. H. Lehmer, *Arithmetic of double series*, Trans. Amer. Math. Soc. **33** (1931), 945–952.
6. P. J. McCarthy, *Introduction to arithmetical functions*, Springer-Verlag, New York, Berlin, Heidelberg, and Tokyo, 1986. MR **87d**:11001
7. W. Narkiewicz, *On a class of arithmetical convolutions*, Colloq. Math. **10** (1963), 81–94. MR **28**:2994
8. V. Sitaramaiah and M. V. Subbarao, *On a class of ψ -products preserving multiplicativity*, Indian J. Pure Appl. Math. **22** (1991), 819–832. MR **92h**:11006
9. M. V. Subbarao and A. A. Gioia, *Identities for multiplicative functions*, Canad. Math. Bull. **10** (1967), 65–73. MR **35**:6638
10. M. Sugunamma, *Contributions to the theory of general arithmetic functions*, Ph.D. Thesis, S. V. University, Tirapathi, India, 1965.

11. R. Vaidyanathaswamy, *The identical equation of the multiplicative functions*, Bull. Amer. Math. Soc. **36** (1930), 762–772.
12. ———, *The theory of multiplicative arithmetic functions*, Trans. Amer. Math. Soc. **33** (1931), 579–662.

DEPARTMENT OF MATHEMATICS, PONDICHERRY ENGINEERING COLLEGE, PILLAICHAVADY,
PONDICHERRY 605104, INDIA

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF ALBERTA, EDMONTON, ALBERTA, CANADA
T6G 2G1

E-mail address: m.v.subbarao@ualberta.ca